Agenda Item #: 3 - C - 17

PALM BEACH COUNTY BOARD OF COUNTY COMMISSIONERS AGENDA ITEM SUMMARY

Meeting Date: January 12, 2010 {X} Consent { } Regular { } Workshop { } Public Hearing Department: Submitted By: Engineering & Public Works Submitted For: Engineering Services Division

I. EXECUTIVE BRIEF

Motion and Title: Staff recommends motion to approve: A Contract Amendment to the Annual Pavement Marking Contract (Contract), R2008-1423, Project No. 2009051, dated September 9, 2008, with Southwide Industries, Inc. (Contractor) to extend the expiration date, add dollar value and lower the unit prices on certain bid items.

SUMMARY: Approval of this Amendment to the Contract will extend the expiration date from March 9, 2010 to September 9, 2011. The Contract amount will increase by \$1,500,000, to a total of \$2,665,000. The Contractor has voluntarily reduced the unit prices of approximately 2% of the existing bid items and added several items that may be used in future task authorizations. These reductions lower the unit prices by 6%. The Contractor did not propose any SBE goals in the original contract and no SBE participation occurred during the first year. <u>Countywide (MRE)</u>

Background and Justification: The original Contract was approved on September 9, 2008, R2008-1423, and will expire on March 9, 2010. On December 2, 2009, the Contract amount was increased by \$95,000, under Change Order No.1, to a not to exceed amount of \$1,165,000, with the approval of the Contract Review Committee. Based on the estimated quantity to be used for items 1 and 2, in Exhibit "A", the cost savings resulting from the price reduction could be \$94,800, if completely used. These items are frequently used since they are for designating the lane lines on all roadways. The Contractor and Palm Beach County are desirous of extending the Contract until September 9, 2011, while utilizing the changes as stated on Exhibit "A". The Contract includes furnishing and installing pavement marking material, raised reflectorized pavement markers, and traffic paint on Palm Beach County roadways.

Attachments:

Amendment to the Annual Pavement Marking Contract w/Exhibit "A" (2)
 Original Bid Tabulation

Recommended	by:	· · · · · · · · · · · · · · · · · · ·
	Division Director	Date
Approved By:	AT WW	12/22/09
· · · · · · · · · · · · · · · · · · ·	County Engineer	Date

II. FISCAL IMPACT ANALYSIS

A. Five Year Summary of Fiscal Impact:

Fiscal Years Capital Expenditures Operating Costs External Revenues Program Income (County) In-Kind Match (County) NET FISCAL IMPACT	2010 \$1,500,000 -0- -0- -0- -0- -0- \$1,500,000	2011 -0- -0- -0- -0- -0-	2012 -0- -0- -0- -0- -0-	2013 0- 0- -0- -0- -0-	2014
NET FISCAL IMPACT	<u>\$1,500,000</u>	0-			<u>-0-</u>
# ADDITIONAL FTE POSITIONS (Cumulative)					
Is Item Included in Current	Budget?	Yes	<u>x</u>	No <u>.</u>	
Budget Acct No.: Fund	Dept U	nit O	bject		

Program

B. Recommended Sources of Funds/Summary of Fiscal Impact:

	Prior		Total		
	Allocation	Expended	New Allocation	Available	
Traffic	\$1,045,000	<1,033,246>	1,500,000	\$1,511,754	
Parks & Recreation	\$ 50,000	<0>	<0>	\$ 50,000	
Airports	\$ 70,000	<0>	<0>	\$ 70,000	
Total	\$1,165,000	<1,033,246>	1,500,000	\$1,631,754	

Allocations are a not to exceed amount and can be expended from various accounting lines for various projects where budget is available.

C. Departmental Fiscal Review: _____

III. REVIEW COMMENTS

A. OFMB Fiscal and/or Contract Dev. and Control Comments:

B. Approved as to Form and Legal Sufficiency:

6/10 Assistant County Attorney

C. Other Department Review:

tract Dev. and Conti

This amendment complies with our review requirements.

Engineering will obtain updated insurance derticticestes.

Department Director

This summary is not to be used as a basis for payment.

2

I:\WP\AGENDAPAGE2\AGNPGTWO2010\PAVEMENTANNUALAGREEMENT.DOC

FIRST AMENDMENT TO THE ANNUAL PAVEMENT MARKING CONTRACT NO. 2009051 DATED SEPTEMBER 9, 2008 BY AND BETWEEN SOUTHWIDE INDUSTRIES, INC., AND PALM BEACH COUNTY

THIS AMENDMENT to the Annual Pavement Marking Contract dated September 9, 2008, (R-2008-1423), hereinafter "CONTRACT" by and between Southwide Industries, Inc., hereinafter "CONTRACTOR" and the BOARD OF COUNTY COMMISSIONERS OF PALM BEACH COUNTY, a political subdivision of the State of Florida, hereinafter, "COUNTY".

WITNESSETH

WHEREAS, on September 9, 2008, the CONTRACTOR and COUNTY entered into an Annual Pavement Marking Contract, in the amount of \$1,070,000, for furnishing and installing pavement marking material, raised reflectorized pavement markers and traffic paint on roadways throughout Palm Beach County; and

WHEREAS, the Contract Review Committee approved Change Order No. 1 in the amount of \$95,000, increasing the total contract to \$1,165,000; and

WHEREAS, Section 33 of the contract provides that the contract may be extended, at the COUNTY'S option for a defined period of time, not to exceed thirty-six months total contract time, upon approval of the Board of County Commissioners; and

WHEREAS, by this amendment, the CONTRACTOR and the COUNTY mutually agree to extend the CONTRACT until September 9, 2011, with all original terms, conditions and unit prices adhered to, except as stated below; and

WHEREAS, the COUNTY wishes to increase the Contract amount from \$1,165,000 to \$2,665,000 for a total increase of \$1,500,000.

NOW, THEREFORE, in consideration of the mutual covenants, promises, and agreements herein contained, the parties agree as follows:

1. The above recitations are true and correct and incorporated herein. The CONTRACT, dated September 9, 2008, between the CONTRACTOR and the COUNTY is hereby amended as follows:

a. extend the expiration date of the CONTRACT to September 9, 2011.b. increase the CONTRACT amount by \$1,500,000 to a total of \$2,665,000.

c. revise the unit prices on bid items #1 and #2 to reflect a lower cost to the County and add items #79 through #84, all as shown on the attached Exhibit A.

2. The CONTRACT, Page C-1, dated September 9, 2008, between the CONTRACTOR and the COUNTY is hereby amended as follows:

WITNESSETH: The Contractor agrees with the County, for the consideration herein mentioned at his, its or their own proper cost and expense to do all the work and furnish all necessary labor, materials, equipment, machinery, tools, apparatus, services, state workmen's compensation and unemployment compensation taxes incurred in the

1

performance of the contract, for the:

ANNUAL PAVEMENT MARKING CONTRACT, PALM BEACH COUNTY PROJECT NO. 2009051

IN THE AMOUNTS specified in task orders which may be issued by the County under Section No. 23 and the other terms of the Contract Documents. The County is not required to issue any task orders hereunder. The maximum value of orders issued under the existing Contract, together with this Amendment and previous change orders, shall not, in any case, exceed Two Million Six Hundred Sixty Five Thousand and 00/100 Dollars (\$2,665,000) (except as may be increased according to Section #40 of the Contract Specifications). The Contract Documents relative hereto are made a part of this agreement as completely as if set forth herein to the satisfaction of the COUNTY or its' duly authorized representative.

3. It is the intent of the parties hereto that this Agreement shall not become binding until the date executed by the COUNTY.

4. All other provisions of the Annual Pavement Marking Contract dated September 9, 2008, shall remain in full force and effect.

IN WITNESS WHEREOF, the parties have caused this Contract to be executed and sealed as of the day and year first written above.

ATTEST: SHARON R. BOCK Clerk and Comptroller PALM BEACH COUNTY, a Political Subdivision of the State of Florida **Board of County Commissioners**

By:

Deputy Clerk

APPROVED AS TO FORM AND LEGAL SUFFICIENCY

COUNTY ATTORNEY

ATTEST:

Secretary or Asst. Secretary

(Seal)

By:_

Burt Aaronson, Chair

APPROVED AS TO TERMS AND CONDITIONS

ENGINEERING

SOUTHWIDE INDUSTRIES, INC. Contractor

(Signature & Title)

JOHN BIERMANN PRESIDENT (Print Name & Title)

N:\ENG_SER\2009051-Annual Pavement Marking\Amend-Ext+Budget.doc

2

EXHIBIT "A"

ANNUAL PAVEMENT MARKING CONTRACT PALM BEACH COUNTY PROJECT NO. 2009051

SOUTHWIDE INDUSTRIES, INC. NOVEMBER 3, 2009 CONTRACT UNIT PRICE ADJUSTMENT

Bid Items 1 & 2, change from \$.48 LF to \$.45 LF

Add the following new items:

79	F&I Thermoplastic rumble strips	500 @ \$300.00 EA
80	F&I 9" Contrast Tape	2,000 @ \$5.40 LF
81	F&I Flexible Deliniators	5,000 @ \$40.00 EA
82	F&I Foil Back Tape	15,000 @ \$1.50 LF
83	F&I Bike Symbol w/Arrow	500 @ \$260.00 EA
84	White, Bi-Directional RPM	30,000 @ \$3.00 EA

PROJECT NAME: ANNUAL PAVEMENT MARKING	CONTRACT								
PROJECT NUMBER: 2009051 BID OPENING DATE: MAY 20, 2008 CONTRACT DAYS: EIGHTEEN (18) MONTHS				INDUSTRIES, NC.	GENE'S S	TRIPING	TRANSM	IARK, INC.	
ITEM	QTY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	AVERAGE UNIT PRICE
LOT 1 - THERMOPLASTIC PAVEMENT MARKING COMPOUND LINES; COLORS & WIDTHS AS INDICATED (FURNISH &									
INSTALL)	****	****	****	****	****	****	****	****	*****
1 WHITE, 6"	1,905,000	LF	\$0.48	\$914,400.00	\$0.50	\$952,500.00	\$0.45	\$857,250.00	\$0.48
2 YELLOW, 6"	1,255,000	LF	\$0.48	\$602,400.00	\$0.50	\$627,500.00	\$0.45	\$564,750.00	\$0.48
3 WHITE, 8"	100,000	LF	\$0.75	\$75,000.00	\$0.40	\$40,000.00	\$0.45	\$45,000.00	\$0.53
4 WHITE, 12"	100,000	LF	\$1.15	\$115,000.00	\$1.60	\$160,000.00	\$1.40	\$140,000.00	\$0.55
5 WHITE, 18"	20,000	LF	\$1.65	\$33,000.00	\$2.30	\$46,000.00	\$1.70	\$34,000.00	\$1.88
6 YELLOW, 18"	15,000	LF	\$1.65	\$24,750.00	\$2.30	\$34,500.00	\$1.90	\$28,500.00	\$1.00
7 WHITE, 24"	15,500	LF	\$2.10	\$32,550.00	\$3.50	\$54,250.00	\$4.35	\$67,425.00	\$3.32
LINES; COLORS & WIDTHS AS INDICATED, (INSTALL ONLY)	****	****	****	****	****	****	****	*****	*****
8 WHITE, 6"	2,000	LF	\$0.25	\$500.00	\$0.30	\$600.00	\$0.40	\$800.00	\$0.32
9 YELLOW, 6"	1,500	LF	\$0.25	\$375.00	\$0.30	\$450.00	\$0.40	\$600.00	\$0.32
10 WHITE, 8"	500	LF	\$0.25	\$125.00	\$0.50	\$250.00	\$0.60	\$300.00	\$0.45
11 WHITE, 12"	500	LF	\$0.25	\$125.00	\$0.90	\$450.00	\$1.00	\$500.00	\$0.72
12 WHITE, 18"	500	LF	\$0.75	\$375.00	\$1.30	\$650.00	\$1.40	\$700.00	\$1.15
13 YELLOW, 18"	500	LF	\$0.75	\$375.00	\$1.30	\$650.00	\$1.40	\$700.00	\$1.15
14 WHITE, 24"	500	LF	\$0.75	\$375.00	\$1.80	\$900.00	\$2.10	\$1,050.00	\$1.55
ARROWS & MESSAGES; AS INDICATED; WHITE ONLY	****	****	****	****					
(FURNISH & INSTALL)					****	****	****	****	****
15 TURN ARROW	4,000	EA	\$35.00	\$140,000.00	\$40.00	\$160,000.00	\$35.00	\$140,000.00	\$36.67
16 STRAIGHT ARROW	500	EA	\$15.00	\$7,500.00	\$20.00	\$10,000.00	\$2.00	\$1,000.00	\$12.33
17 STRAIGHT/TURN ARROWS; COMBINATION	500	EA	\$50.00	\$25,000.00	\$30.00	\$15,000.00	\$15.00	\$7,500.00	\$31.67
18 MERGE MESSAGE	200	EA	\$55.00	\$11,000.00	\$60.00	\$12,000.00	\$25.00	\$5,000.00	\$46.67
19 RXR MESSAGE	100	EA	\$30.00	\$3,000.00	\$80.00	\$8,000.00	\$40.00	\$4,000.00	\$50.00
20 SCHOOL MESSAGE	500	EA	\$55.00	\$27,500.00	\$80.00	\$40,000.00	\$50.00	\$25,000.00 *	\$61.67
21 ONLY MESSAGE	500	EA	\$60.00	\$30,000.00	\$80.00	\$40,000.00	\$50.00	\$25,000.00	\$63.33
22 U-TURN MESSAGE	2,000	EA	\$25.00	\$50,000.00	\$45.00	\$90,000.00	\$5.00	\$10,000.00	\$25.00
23 BIKE LANE MESSAGE (DIAMOND, ARROW)	500	EA	\$50.00	\$25,000.00	\$1.00	\$500.00	\$1.00	\$500.00	\$17.33
24 HANDICAP MESSAGE	500	EA	\$50.00	\$25,000.00	\$5.00	\$2,500.00	\$5.00	\$2,500.00	\$20.00
ARROWS & MESSAGES; AS INDICATED; WHITE ONLY	****	المحادثة بالربان بالر	مەر بىلەر بىلەر بىلەر	والمراجع والمراجع	-84-18-18-4		· · · · ·		•
		****	****	****	****	****	****	****	****
25 TURN ARROW	20	EA	\$10.00	\$200.00	\$29.00	\$580.00	\$10.00	\$200.00	\$16.33
26 STRAIGHT ARROW	10	EA	\$5.00	\$50.00	\$29.00	\$290.00	\$10.00	\$100.00	\$14.67

BIDS RECEIVED BY: CHARLES W. RICH, P.E. BIDS RECORDED BY: JAYNE CANALE, TECHNICAL AIDE

*DENOTES CORRECTED ITEM **DENOTES UNRESPONSIVE BID

PROJECT NAME: ANNUAL PAVEMENT MARKING CONTRACT PROJECT NUMBER: 2009051 **BID OPENING DATE: MAY 20, 2008** SOUTHWIDE INDUSTRIES, **GENE'S STRIPING** TRANSMARK, INC. **CONTRACT DAYS: EIGHTEEN (18) MONTHS** INC. AVERAGE ITEM OTY UNITS **UNIT PRICE** AMOUNT UNIT PRICE AMOUNT UNIT PRICE UNIT PRICE AMOUNT 27 STRAIGHT/TURN ARROWS; COMBINATION 10 EA \$15.00 \$150.00 \$350.00 \$35.00 \$15.00 \$150.00 \$21.67 28 MERGE MESSAGE 10 EA \$20.00 \$200.00 \$65.00 \$650.00 \$25.00 \$250.00 \$36.67 29 RXR MESSAGE 10 EA \$40.00 \$400.00 \$75.00 \$750.00 \$40.00 \$400.00 \$51.67 **30 SCHOOL MESSAGE** 10 EA \$30.00 \$300.00 \$60.00 \$600.00 \$40.00 \$400.00 \$43.33 **31 ONLY MESSAGE** 10 EA \$20.00 \$200.00 \$45.00 \$450.00 \$40.00 \$400.00 \$35.00 LOT 2 - RAISED REFLECTIVE PAVEMENT MARKERS APPLIED WITH THERMOPLASTIC; COLORS & TYPES AS INDICATED; ***** **** ***** **** (FURNISH & INSTALL) ***** ***** **** ***** **** 32 RED & AMBER; BI-DIRECTIONAL 500 EA \$1.50 \$750.00 \$1.90 \$950.00 \$1.20 \$600.00 \$1.53 33 AMBER; BI-DIRECTIONAL 45,000 EA \$3.00 \$135,000.00 \$3.00 \$135,000.00 \$3.10 \$139,500.00 \$3.03 34 WHITE & RED; BI-DIRECTIONAL 85,000 EA \$3.00 \$255,000.00 \$3.00 \$255,000.00 \$3.10 \$263,500.00 \$3.03 THERMOPLASTIC; COLORS & TYPES AS INDICATED (INSTALL ***** **** **** ***** ONLY) ***** ***** ***** ***** **** 35 RED & AMBER; BI-DIRECTIONAL 225 EA \$1.50 \$337.50 \$2.00 \$450.00 \$1.00 \$225.00 \$1.50 **36 AMBER: BI-DIRECTIONAL** EA 225 \$1.50 \$337.50 \$2.00 \$450.00 \$1.00 \$225.00 \$1.50 37 WHITE & RED; BI-DIRECTIONAL 225 EA \$1.50 \$337.50 \$2.00 \$450.00 \$1.00 \$225.00 \$1.50 LOT 3 - RAISED REFLECTIVE PAVEMENT MARKERS (APPLIED WITH EPOXY) (COLORS & TYPES AS INDICATED) (FURNISH & INSTALL) **** **** **** **** **** ***** **** **** **** 38 RED & AMBER; BI-DIRECTIONAL 225 EA \$0.75 \$168.75 \$3.00 \$675.00 \$1.25 \$281.25 \$1.67 **39 AMBER; BI-DIRECTIONAL** 1,500 EA \$3.25 \$4,875.00 \$4.00 \$6,000.00 \$5.00 \$7,500.00 \$4.08 40 WHITE & RED; BI-DIRECTIONAL 25 EA \$3.25 \$81.25 \$6.00 \$150.00 \$10.00 \$250.00 \$6.42 ***** **** **** **** **** ***** ***** ***** EPOXY; COLORS & TYPES AS INDICATED (INSTALL ONLY) **** 41 RED & AMBER; BI-DIRECTIONAL 225 EA \$0.25 \$56.25 \$0.50 \$112.50 \$0.25 \$56.25 \$0.33 42 AMBER; BI-DIRECTIONAL 225 EA \$1.50 \$337.50 \$1.00 \$225.00 \$1.40 \$315.00 \$1.30 43 WHITE & RED; BI-DIRECTIONAL 225 EA \$1.50 \$337.50 \$1.00 \$225.00 \$1.40 \$315.00 \$1.30 LOT 4 - TRAFFIC PAINT LINES, COLORS (TYPES) AND WIDTHS **** **** **** ***** **** AS INDICATED; (FURNISH & INSTALL) **** **** **** ***** 44 WHITE; 4" 500 LF \$0.16 \$80.00 \$0.75 \$375.00 \$0.10 \$50.00 \$0.34 45 YELLOW, 4" 500 LF \$0.16 \$80.00 \$0.75 \$375.00 \$0.10 \$50.00 \$0.34 46 WHITE, 6" LF 10,000 \$0.24 \$2,400.00 \$0.20 \$2,000.00 \$0.25 \$2,500.00 \$0.23 47 BLACK, 6" 1.000 LF \$0.10 \$100.00 \$0.15 \$150.00 \$0.20 \$200.00 \$0.15 48 YELLOW, 6" LF 5,000 \$0.25 \$1,250.00 \$0.20 \$1,000.00 \$0.25 \$1,250.00 \$0.23 49 WHITE, 18" 1,000 LF \$0.70 \$700.00 \$0.45 \$450.00 \$0.50 \$500.00 \$0.55 50 WHITE, 12" 1.000 LF \$0.40 \$400.00 \$0.45 \$450.00 \$0.25 \$250.00 \$0.37

BIDS RECEIVED BY: CHARLES W. RICH, P.E. BIDS RECORDED BY: JAYNE CANALE, TECHNICAL AIDE

Page 2 of 4

PROJECT NAME: ANNUAL PAVEMENT MARKING CONTRACT

PROJECT NUMBER: 2009051 BID OPENING DATE: MAX 20

BID OPENING DATE: MAY 20, 2008 CONTRACT DAYS: EIGHTEEN (18) MONTHS		NING DATE: MAY 20, 2008					SOUTHWIDE INDUSTRIES, INC.		GENE'S STRIPING		TRANSMARK, INC.			
	ITEM 51 YELLOW, 18" 52 WHITE, 24" ARROWS & MESSAGES: WHITE; (FURNISH & INSTALL)	QTY 500 500 *****	UNITS LF LF *****	UNIT PRICE \$0.70 \$0.95 ****	AMOUNT \$350.00 \$475.00 *****	UNIT PRICE \$0.45 \$2.00 *****	AMOUNT \$225.00 \$1,000.00 *****	UNIT PRICE \$0.50 \$2.10 *****	AMOUNT \$250.00 \$1,050.00	AVERAGE UNIT PRICE \$0.55 \$1.68				
	53 STRAIGHT/COMBO ARROW 54 TURN ARROW 55 MESSAGE (ONLY; SCHOOL; MERGE & STRAIGHT	50 100	EA EA	\$22.00 \$15.00	\$1,100.00 \$1,500.00	\$10.00 \$15.00	\$500.00 \$1,500.00	\$10.00 \$10.00	***** \$500.00 \$1,000.00	***** \$14.00 \$13.33				
	ARROW) LOT 5 - PAVEMENT MARKING REMOVAL	500 ****	EA ****	\$30.00 ****	\$15,000.00 *****	\$10.00 ****	\$5,000.00 *****	*****	** *****	\$20.00 ****				
	56 TRAFFIC PAINT 57 THERMOPLASTIC 58 COLD (PREFORMED) PLASTIC 59 CONSTRUCTION TAPE 60 PAVEMENT MARKERS	1,000 20,000 10,000 160,000 7,600 *****	SF SF SF LF EA	\$0.60 \$0.75 \$1.00 \$0.75 \$0.50	\$600.00 \$15,000.00 \$10,000.00 \$120,000.00 \$3,800.00	\$1.30 \$1.45 \$0.20 \$0.20 \$0.50	\$1,300.00 \$29,000.00 \$2,000.00 \$32,000.00 \$3,800.00	\$0.30 \$1.50 \$0.10 \$0.60 \$1.00	\$300.00 \$30,000.00 \$1,000.00 \$96,000.00 \$7,600.00	\$0.73 \$1.23 \$0.43 \$0.52 \$0.67				
	LOT 6 - PREFORMED (COLD) PLASTIC; (INSTALL ONLY) 61 WHITE OR YELLOW, 6" 62 WHITE, 8" 63 WHITE OR YELLOW, 12" 64 WHITE OR YELLOW, 18" 65 WHITE, 24"	1,000 500 100 100 100	***** LF LF LF LF LF	***** \$0.40 \$0.40 \$0.40 \$0.50 \$0.50	***** \$400.00 \$200.00 \$40.00 \$50.00 \$50.00	***** \$0.30 \$0.30 \$0.30 \$0.30 \$0.30 \$0.30	***** \$300.00 \$150.00 \$30.00 \$30.00 \$30.00	***** \$0.20 \$0.20 \$0.40 \$0.40 \$0.50	***** \$200.00 \$100.00 \$40.00 \$40.00 \$50.00	***** \$0.30 \$0.30 \$0.37 \$0.40 \$0.43				
	 66 MESSAGE (ONLY; SCHOOL; MERGE; U-TURN, BIKE LANE, SYMBOL W/DIAMOND) 67 TURN ARROW LOT 7 - UNLEADED THERMOPLASTIC PAVEMENT MARKINGS (FURNISH & INSTALL) 	10 10 ****	EA EA *****	\$20.00 \$20.00 *****	\$200.00 \$200.00 *****	\$60.00 \$60.00 *****	\$600.00 \$600.00 *****	\$15.00 \$15.00 *****	\$150.00 \$150.00	\$31.67 \$31.67				
	68 YELLOW, 6" 69 YELLOW, 18" INSTALL ONLY	10,500 2,000 *****	LF LF ****	\$0.50 \$1.71 ****	\$5,250.00 * \$3,420.00 *****	\$0.52 \$1.20 *****	\$5,460.00 \$2,400.00 *****	\$0.50 \$1.50 ****	***** \$5,250.00 \$3,000.00 *****	***** \$0.51 \$1.47 ****				
	70 YELLOW, 6" 71 YELLOW, 18" LOT 8 - PREFORMED COLD PLASTIC (FURNISH & INSTALL)	200 100 ****	LF LF ****	\$0.25 \$0.75 ****	\$50.00 \$75.00 *****	\$1.00 \$1.00 ****	\$200.00 \$100.00 *****	\$0.50 \$1.50 ****	\$100.00 \$150.00 *****	\$0.58 \$1.08 ****				
	72 WHITE OR YELLOW, 6" 73 WHITE, 8" 74 WHITE OR YELLOW, 12"	3,700 100 200	LF LF LF	\$1.80 \$1.95 \$2.80	\$6,660.00 \$195.00 \$560.00	\$1.50 \$1.60 \$2.60	\$5,550.00 \$160.00 \$520.00	\$1.20 \$1.50 \$2.00	\$4,440.00 \$150.00 \$400.00	\$1.50 \$1.68 \$2.47				

BIDS RECEIVED BY: CHARLES W. RICH, P.E. BIDS RECORDED BY: JAYNE CANALE, TECHNICAL AIDE

Page 3 of 4

*DENOTES CORRECTED ITEM **DENOTES UNRESPONSIVE BID

PROJECT NAME: ANNUAL PAVEMENT MARKING CO PROJECT NUMBER: 2009051 BID OPENING DATE: MAY 20, 2008 CONTRACT DAYS: EIGHTEEN (18) MONTHS		ITRACT SOUTHWIDE INDUSTRIES, INC.			GENE'S STRIPING		TRANSMARK, INC.			
ITEM 75 WHITE OR YELLOW, 18" 76 WHITE, 24" 77 MESSAGE (ONLY; SCHOOL; MERGE; U-TURN; BIKE	QTY 100 200	UNITS LF LF	UNIT PRICE \$4.25 \$5.72	AMOUNT \$425.00 \$1,144.00	UNIT PRICE \$3.90 \$5.40	AMOUNT \$390.00 \$1,080.00	UNIT PRICE \$2.70 \$3.20	AMOUNT \$270.00 \$640.00	AVERAGE UNIT PRICE \$3.62 \$4.77	
LANE) 78 TURN ARROW TOTAL	25 50 *****	EA EA *****	\$260.00 \$175.00 ***** \$	\$6,500.00 \$8,750.00 2,749,472.75 *	\$200.00 \$100.00 ***** \$	\$5,000.00 \$5,000.00 2,808,782.50	\$75.00 \$75.00 *****	\$1,875.00 \$3,750.00 **	\$178.33 \$116.67 * ****	